A & O & A B Ml M
20199 &= 20i&F e Al
A AHH
M MU 2
SRl AL AFZ A (9 ® =)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
AHLHES 478,570 551,627 AT3,057
AU 24 421,125 488,532 A67,407
AHLHE AR Z H 421,125 488,532 AN67,407
AL FU=IAAMY 58,300 308,200 A 249,900
401 AIEHI L 2 CHYI 58,300 308,200 A 249,900
01 Al&HI 58,300 308,200 A 249,900
OxR2F0=3AMY 50,000
Oltset BEx=ZA(FLUA &) 8,300
AAsddl =24 7,034 11,584 N4,550
301 gEtE &= 7,034 11,584 N4,550
04 HELHUAH XA 7,034 11,584 A 4,550
oxsggiasdy 6,534
OF&l I 4,000 x2H «3652 2,920
Y2 3,000
&= 6,000 «12& 10 £ 72
A= Hl 392,000& *1JH 2 392
e ] 150,000& *1J4 2= 150
OX=gdl =44 500
Scletde2dg 60,940 60,940 0
301 gEtE &= 60,940 60,940 0
05 8& -0 -8tE3Es24s 60,940 60,940 0
OJURSE=, 59,040
l2+¢ 200,000& ~18H «12& 43,200
a0 200,000 & =18 »200% 7,200
Ol o &N =E 20,0008 «18F 23] 123 8,640
Oostd =& 50,0003 *38L * 13 1,900
22 ALK& 24,020 14,020 10,000
201 fEt2E | 20,000 10,000 10,000
03 A2 20,000 10,000 10,000
Ox&=x =Nl 5,000
OXielat AHMZHHAE 5,000
OAl2IM=Uz2 10,000
301 eetE s = 4,020 4,020 0
09 AMAHIEAS 3,020 3,020 0
OokLe HolE=ts 20,000& 25 500
O=eH 20,000 50 1,000
OJIEt &AL 20,000& =40 800
O0l&(2%) M=Us 40,000 x 18 720
2IIEtE2d= 1,000 1,000 0
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SA: ALHH
M MUHH 29
el ALES AFR b CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Osas X& 1,000
A Ar2t 2| 249,631 70,788 178,843
101 @121l 22,901 21,058 1,843
04 JI2ZtH 22 XNHEE =+ 22,901 21,058 1,843
OF T&H I 3| 68,900& *10H *93] 6,201
OgrAANY o182 66,800& 60 x2H 8,016
ORIX L =42 AMEs 22|
66,800& *130! x1H 8,684
201 et A | 60,980 39,980 21,000
01 AFR2t2l Yl 40,980 19,980 21,000
OUBI2AHY| (HEAHEXS A2, s2dHSA) 15,600
O=2 &l 1,680
Oosas7aHlgdxz 1,500
O&F AR E I 100,000& 10 A x12& 1,200
Obdld KA 2el Xz 21,000
02 33294l 20,000 20,000 0
OZ2222 2 HA(EALSX2 EAH2, s24A
=) 8,000
QHSHI(HAHEX2 A sAHASA) 4,500
OAlI& & Hl s XYl 2,000
(OPNE=1s] 5,500
206 M = Hl 12,800 9,750 3,050
01 = bl 12,800 9,750 3,050
OgtdALs RFEH| 7,800
e e 1,400& *5,0004 7,000
SR 1,600& *5004 800
22X 4 500
OXeld 242 FEx AM(PY) 2,000
OXela Sd2 st&Es HAEE 7Y
250,000* 1094 £~ 2,500
401 Al B 2 0HHI 145,650 0 145,650
01 A& HI 145,650 0 145,650
OXela Sd2 st&Ea AHl 500,000 *4IH A 2,000
Oz & ¢ &4X 5,000
OHEAN HHEZ ALY 20,000
OHEAN SHHAH L dE SA
130, 000& *605m* 78,650
OHHA XS &= ZA 30,000
OZ2Xa 2 2y A 10,000
405 XHaHFE SHI 7,300 0 7,300
01 JHMtY = ZF SHI 7,300 0 7,300
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